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B. A. (VOCATIONAL STUDIES)
TOURISM MANAGEMENT (BAVTM)
Term-End Examination
June, 2023
BTMC-138 : MANAGERIAL ACCOUNTING AND
FINANCE IN TOURISM

Time : 3 Hours Maximum Marks : 100

Note : Attempt any five questions in about 600

words each. All questions carry equal marks.

1. What do you mean by accounting ? What are its
various functions ? Describe the various types

of accounting. 20

2. What are the accounting concepts ? Explain the
concepts and conventions  with  their

appropriate applications in accounting. 20

3. The following is given about a company : 20

Sales % 1,50,000
Gross Profit % 30,000
Cost of goods sold % 1,20,000
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Opening stock
Closing stock
Debtors
Net Profit
Net Fixed Assets

From the above information,

following ratios :

(1) Fixed Asset Turnover Ratio
(11) Gross Profit Ratio

(111) Stock Turnover Ratio

(iv) Debtors Turnover Ratio

(v) Net Profit Ratio

XYZ Ltd. furnishes you the following
information : 20
Year 2010
Particulars First Second
Half Half
Sales % 8,10,000 % 10,26,000
Profit Earned < 21,600 3 64,800
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% 29,000
< 31,000
% 16,000
% 14,000
< 1,10,000

calculate the



[3] BTMC-138

From the above, you are required to compute
the following assuming that the fixed cost
remains the same in both the periods :

(1) P/V Ratio
(1) Fixed cost
(i11) The amount of profit or loss where sales

are T 6,48,000.

(iv) The amount of sales required to earn profit

of ¥ 1,08,000.

Is the agreement of Trial Balance a conclusive
proof of the accuracy of accounting books ?
What are the errors which do not affect the

agreement of Trial Balance ? 20

What is depreciation ? What are its causes ?
How does diminishing balance method differ

from fixed instalment method ? Explain. 20

What do you mean by analysis of financial
statements ? Explain its need and significance

to various users. 20
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10.

[4] BTMC-138
What do you understand by working capital
management ? Explain various approaches in

working capital management. 20

What is operating leverage ? How does it help
to maximize the revenue of a firm ? Is it true
that a firm with high degree of operating
leverage have high degree of financial

leverage ? Examine. 20

What is appropriate capital structure ? What
should generally be the features of appropriate

capital structure ? 20
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3. Tk &l % ar B frefafed geAd & T
g : 20
IEE] % 1,50,000
Thel oy % 30,000
9 T HA H1 AN % 1,20,000
ARTF Wik % 29,000
A< ik % 31,000
EREU % 16,000
S o % 14,000
IS = gl % 1,10,000

~

U geel 9, frefafed sl &t o

HifST
() 39 gHd 3Ed ST

(i) el @19 UM

(iii) Tih 3Ed AU

(iv) TR 2Ted 31T

(v) R[& 4 gHd
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ad 2010
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fent 3 8,10,000 3 10,26,000
afsg e ¥ 21,600 3 64,800
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() dHdt sTga
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2l
(Gv) T 1,08,000 &1 @9 g wH & fau
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